E) Qegutans © N
weg‘f °/@ >

l _%3
‘ ')(:'l'(y ::(c?a
<% 7-_ L §0 X0







Compare & contrast '
these 3 lines WRT
steepness & direction...
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Steepest line.

/ Slants up to the right.

Flattest line.
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“@5 / Slants up to the right.

Flattest line,
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Slants down to the right.

Slants up to the!ght.
Flattest line.




Slope
A numerical measure of the steepness of a |
Also tells which direction it tilts.

Represented by the letter m.

Slope A
Calculated by dividing the rise of the
line by the run of the line.
S 1S rise over run
_ rise S
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Slope A
Calculated by dividing the rise of the
line by the run of the line.
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Slope A
Calculated by dividing the rise of the
line by the run of the line.

Slope is rise over run
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Slope A
Calculated by dividing the rise of the
line by the run of the line.
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Slope 'y
Calculated by dividing the rise of the
line by the run of the line.
Slope is rise over run
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Slope A
Calculated by dividing the rise of the
line by the run of the line.

Slope 1s rise over run

rise 2
run 3
) _ Jun (
"Run'" always to the right. S
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Slope A
Calculated by dividing the rise of the
line by the run of the line.
Slope is rise over run a,f un (over3)
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Slope A
Calculated by dividing the rise of the
line by the run of the line.

Slope is rise over run /N\‘f un (over3)
. N (5, 3)
_ rise _ E )
run 3 2 i
"Run'" always to the right. S 2, 1)
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Slope

Calculated by dividing the rise of the
line by the run of the line.
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Slope A
Calculated by dividing the rise of the
line by the run of the line.

Slope 1s rise over run

rise 2

run 3

"Run'" always to the right.

<<

Given 2 points:

Jun (over3)

2)

>

rise: change in y values ]

run: change in X values ——
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Slope

Calculated by dividing the ryse of the line

Slope is ryse over run

ryse
run

Slope =

Slope
Calculated by dividing the ryse of the line

Slope is ryse over run

ryse

Slope = —
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Slope

Calculated by dividing the ryse of the line by

Slope is ryse over run

ryse
run

Slope =

Slope

Calculated by dividing the ryse of the line by

Slope is ryse over run

ryse

Slope = —
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How could we come up 47

with equations for these
3 lines?
\K
(0,2) (5,2)
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How could we come up 47

with equations for these
3 lines?
(2,3)
. (5, 2)
Sal + 0
>
- X '
- _
m= 6 ——
v

Intercept

The place a line crosses a given axis.

y-intercept

Where the line crosses the y axis. y

X-intercept
Where the line ¢ '
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Slope-intercept form

y=mx+b

Slope-intercept form

y=mx+b
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Slope-intercept form

Slope-intercept form

=mx+ b
v X *

S

‘\ .~
\ y-intercept

\

slope
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Slope-intercept form

3 y-intercept

)

Slope-intercept form

21



Slope-intercept form

=mx + b
y \ x
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How could we come up 47
with equations for these
3 lines?

A Y

m=_ls
s
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A Y

(2,3

3)

(5,2

L\

)

Slope-intercept form |y =mx + b

Slope & y-intercept
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A Y

I

%)

2,3

Point-slope equation form

v
A Y
(2,3)
\W
(5,2)
v
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Point-slope equation form

y-y1=m(x - xl)

yaeih

A Y

Ay
Point-slope equation form
Yoy = w) 2.3)
s~~~~ D) B *]/
~ Slope m 3
(5, 2)
\J
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Ay
Point-slope equation form

yoy = 9
\ e n
Vo L
v,

v/ ) . (53 2)
Any known point on the line (xi, 3})

I

%)

>
X
\
Ay
Point-slope equation form
Y- Q= - ) 2,3)
\‘ /ﬁ~~~~ I]] ~ ~]/
\ ,/' ~ Slope m 3
‘\/’ i . (55 2)
Any known point on the line (xi, 1)
>
X
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Any known point on the line (x;, )

-
Extra credit (5 Hw poihts):
What is the connection between

the Point-slope e%uaﬁon and the SYoBe e%uaﬁon?

y+3=-Yx-2)

f )
fo'...,\- ~$lope 3?.7'

M=y
4(1/ ﬁ’)

lw(x-xj

S—_
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y+3=-"x-2

Slope-intercept form

y=mx +b

Slope & y-intercept

Point-Slope form

-y =m(x - x)

Slope & 1 pt the line goes thru
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A Y

0, 2)
('33 O)
\ 4
Standard Form Ay
(0, 2)
(-3,0)
\ 4
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Standard Form Ay
Ax+By=C
0, 2)
('39 0)
\J
Standard Form Ay

Ax+By=C
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Slope-intercept form |y =mx + b

Slope & y-intercept

Point-Slope form y -y =m(x - xi)

Slope & 1 pt the line goes thru

Standard form

Ax+By=C

x & y-intercepts

Compare & contrast 2 Y
these 3 lines... 2.4 E?frﬁtfflip,f(ffflf \
\
N
y s
Standard form 3
Ax +By=C (0,2)
//
(—3,/0/
<
m :ﬁ/’
I
Slope-intercept form
y=mx+b
\
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Rise is zero
m=0 b

Il
()

y=mx+b
y=0x+2
y=2

HORIZONTAL LINE —y =+#
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4 Run is zero...
m = 0ops!

division by zero

Slope is undefined

Never crosses y axis

No y-intercept, so no b
Crosses x axis at x = 1
Line equation is x = 1

Vertical line—sx = #

\/
0
Line form name Equation What it gives us
Slope-intercept form |y =mx + b Slope & y-intercept
Point-Slope form y -y =m(x - xq) Slope & 1 pt the line goes thru
Standard form Ax+By=C x & y-intercepts

Horizontal or vertical?

Ask "which axis does it cross?"

Horizontal

Touches y axis so itis y =

Vertical

Touches x axis so it is x =

36



L.3-5 HW Problems

Pg 155, #1-43 odd

48-51
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